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MA – FR Answers

Chapter 13 Change in a Group Structure
Answer 1
W1 Group structure


[image: image1]
Therefore, S becomes a subsidiary of H from December 2013.
	
	S

	Group interest
	60%

	NCI
	40%

	
	100%


The investment will need to be revalued

	
	Dr. ($)
	Cr. ($)

	Investment (105,000 – 90,000)
	15,000
	

	Profit on remeasurement
	
	15,000


W2 Net assets of subsidiaries

	
	S

	
	$

	Equity capital
	100,000

	Reserves
	100,000

	
	200,000


W3 Goodwill

	
	S
	

	
	$
	

	Cost of investment (105,000 + 70,000)
	175,000
	

	Fair value of NCI
	90,000
	

	
	265,000
	

	Fair value of net assets (W2)
	(200,000)
	

	Goodwill at acquisition
	65,000
	


W4 Group retained earnings

	
	H
	S

	
	$
	$

	Per question
	250,000
	122,000

	Less: Pre-acquisition retained earnings
	
	(100,000)

	
	
	22,000

	Gain on re-measurement (W1)
	15,000
	

	S [60% × (222,000 – 200,000)]
	13,200
	

	
	278,200
	


W5 Non-controlling interest

	
	S

	
	$

	NCI FV at acquisition
	90,000

	NCI share of post-acq. retained earnings (40% × 22,000)
	8,800

	
	98,800


Consolidated statement of financial position as at 31 December 2015
	
	
	$

	Goodwill (W3)
	
	65,000

	Sundry assets (350,000 + 250,000)
	
	600,000

	Total assets
	
	665,000

	Equity and liabilities
	
	

	Equity capital
	
	200,000

	Retained earnings (W4)
	
	278,200

	
	
	478,200

	Non-controlling interest (W5)
	
	98,800

	Total equity
	
	577,000

	Liabilities (60,000 + 28,000)
	
	88,000

	Total equity and liabilities
	
	665,000


Answer 2
(a)(i)
Gain in H’s individual accounts

	
	
	$000

	Sale proceeds
	
	10,000

	Less: Cost of shares sold
	
	(6,000)

	Gain to parenet
	
	4,000

	Tax at 25%
	
	(1,000)

	
	
	3,000


(a)(ii)

Gain in H Group accounts

	
	$000
	$000

	Sale proceeds
	
	10,000

	FV of retained interest
	
	0

	CV of subsidiary at disposal:
	
	

	Net assets
	3,000
	

	Unimpaired goodwill (W1)
	2,500
	

	
	5,500
	

	Less: NCI at disposal date (W2)
	(400)
	

	
	
	5,100

	Gain before tax
	
	4,900

	Less: Tax per part (a)(i)
	
	(1,000)

	
	
	3,900


W1 Goodwill

	
	
	$000

	Cost of investment
	
	6,000

	FV of the NCI at date of acquisition
	
	1,000

	
	
	7,000

	FV of net assets at the date of acquisition (given)
	
	(2,000)

	Total goodwill
	
	5,000

	Impaired (50%)
	
	(2,500)

	Unimpaired goodwill
	
	2,500


W2 NCI at disposal date

	
	
	$000

	FV at date of acquisition
	
	1,000

	NCI share of post-acquisition retained earnings

[40% × (3,000 – 2,000)]
	
	400

	Less: NCI share of goodwill impairment (40% × 2,500)
	
	(1,000)

	
	
	400


(b)(i)

Disposal of half of the holding to leave a residual shareholding:

	
	$000
	$000

	Disposal proceeds
	
	5,000

	FV of retained interest
	
	3,500

	
	
	8,500

	CV of subsidiary at disposal date:
	
	

	Net assets
	3,000
	

	Unimpaired goodwill (W1)
	2,500
	

	
	5,500
	

	Less: FV of NCI at disposal date (W2)
	(400)
	

	
	
	5,100

	
	
	3,400


(b)(ii)

After the date of disposal, the residual holding will be equity accounted, with a single amount in the income statement for the share of the post-tax retained earnings for the period after disposal and a single amount in the statement of financial position for the fair value at disposal date of the investment retained plus the group share of post-acquisition retained earnings.

Answer 3
(a)(i) Full disposal

Consolidated income statement
	
	H
	S
	Adj.
	Group

	
	
	(6/12)
	
	

	
	$
	$
	$
	$

	Revenue
	553,000
	225,000
	-
	778,000

	Operating costs
	(450,000)
	(200,000)
	
	(650,000)

	Operating profit
	
	
	
	128,000

	Dividend receivable
	8,000
	
	(7,000)

[70% × 10,000]
	1,000

	Profit on disposal (W1)
	
	
	
	80,400

	Profit before tax
	
	
	
	209,400

	Tax
	(40,000)
	(7,000)
	
	(47,000)

	Profit after tax
	
	
	
	162,400

	
	
	
	
	

	Profit attributable to:
	
	
	
	

	Parent (bal. fig.)
	
	
	
	157,000

	NCI (30% × 36,000 × 6/12)
	
	
	
	5,400

	
	
	
	
	162,400


W1 Profit on disposal

	
	$
	$

	Proceeds
	
	200,000

	Net assets recorded prior to disposal
	
	

	Net assets
	138,000
	

	Full goodwill – unimpaired (W2)
	30,000
	

	
	168,000
	

	NCI at date of disposal (W3)
	(48,400)
	

	
	
	(119,600)

	Profit on disposal
	
	80,400


W2 Goodwill

	
	
	$

	Cost to parent
	
	100,000

	FV of NCI at date of acquisition
	
	40,000

	
	
	140,000

	FV of net assets at date of acquisition (per question)
	
	(110,000)

	Unimpaired goodwill
	
	30,000


W3 NCI at disposal date

	
	
	$

	FV of NCI at date of acquisition
	
	40,000

	NCI share of post-acquisition retained earnings

[30% × (138,000 – 110,000)]
	
	8,400

	
	
	48,400


(a)(ii)
Group retained earnings at 31 December 2012

	
	
	$

	Brought forward – H
	
	100,000

	S – post acquisition retained earnings

[70% × (138,000 (W4) – 110,000 (per question)]
	
	19,600

	
	
	119,600

	Profit for year per consolidated income statement
	
	157,000

	Less: Dividend paid
	
	(25,000)

	Retained earnings c/f
	
	251,600


W4 Net assets of S at disposal date

	
	
	$

	Share capital
	
	50,000

	Retained earnings b/f
	
	80,000

	Current year (36,000 × 6/12)
	
	18,000

	Less: Dividend
	
	(10,000)

	
	
	138,000


(a)(iii)
Group income statement – discontinued operations presentation

	
	H
	Group

	
	$
	$

	Revenue
	553,000
	553,000

	Operating costs
	(450,000)
	(450,000)

	Operating profit
	
	103,000

	Dividend receivable (8,000 – 70% × 10,000)
	
	1,000

	Profit on disposal (W1)
	
	80,400

	Profit before tax
	
	184,400

	Tax
	
	(40,000)

	Profit after tax – continuing operations
	
	144,400

	Discontinued operations ($36,000 × 6/12)
	
	18,000

	
	
	162,400

	
	
	

	Attributable to:
	
	

	Equity holders of parent
	
	157,000

	Non-controlling interest (30% × 36,000 × 6/12)
	
	5,400

	
	
	162,400


(b)(i)
	
	H
	S
	Adj.
	Group

	
	
	(6/12)
	
	

	
	$
	$
	$
	$

	Revenue
	553,000
	225,000
	-
	778,000

	Operating costs
	(450,000)
	(200,000)
	
	(650,000)

	Operating profit
	
	
	
	128,000

	Dividend receivable
	8,000
	
	(7,000)

[70% × 10,000]
	1,000

	Income from associate

(35% × 36,000 × 6/12)
	
	
	
	6,300

	Profit on disposal (W5)
	
	
	
	80,400

	Profit before tax
	
	
	
	215,700

	Tax
	(40,000)
	(7,000)
	
	(47,000)

	Profit after tax
	
	
	
	168,700

	
	
	
	
	

	Profit attributable to:
	
	
	
	

	Equity holders of H
	
	
	
	163,300

	Non-controlling interest

(30% × 36,000 × 6/12)
	
	
	
	5,400

	
	
	
	
	168,700


W5 Profit on part disposal

	
	$
	$

	Proceeds
	
	100,000

	FV of retained interest (per question)
	
	100,000

	
	
	200,000

	Net assets recorded prior to disposal
	
	

	Net assets
	138,000
	

	Full goodwill – unimpaired (W2)
	30,000
	

	
	168,000
	

	NCI at date of disposal (W3)
	(48,400)
	

	
	
	(119,600)

	Profit on disposal
	
	80,400


(b)(ii)

Group retained earnings at 31 December 2012 – part disposal

	
	
	$

	Brought forward – H
	
	100,000

	S – post acquisition retained earnings

[70% × (138,000 (W4) – 110,000 (per question)]
	
	19,600

	
	
	119,600

	Profit for year per consolidated income statement
	
	163,300

	Less: Dividend paid
	
	(25,000)

	Retained earnings c/f
	
	257,900


Answer 4

(a)

Sale of 5% of S shares
	
	
	$

	Cash proceeds
	
	5,000

	Increase in NCI [5% × (70,000 + 20,000)]
	
	(4,500)

	Increase in equity
	
	5,000


(b)

Sale of 25% of S shares

	
	
	$

	Cash proceeds
	
	20,000

	Increase in NCI [25% × (70,000 + 20,000)]
	
	(22,500)

	Decrease in equity
	
	2,500


H remains a subsidiary of S after the sale of shares. There is no gain or loss to the group – the difference arising is taken to equity. S would continue to be consolidated within the H Group like any other subsidiary; there is no change to the carrying value of goodwill. The only impact will be the calculation of NCI share of retained earnings for the year – this would need to be time apportioned based upon the NCI percentage pre- and post-disposal during the year.
Answer 5
W1 Group structure

	
	S
	
	A

	Group interest
	
	
	

	- 1 Oct 2013
	70%
	- 1 Jan 2012
	60%

	- 30 Sep 2015
	10%
	- 30 Sep 2015
	(15%)

	
	80%
	
	45%

	NCI
	20%
	
	Associate

	
	100%
	
	


W2 Net assets of S and A at acquisition date

	
	S
	A

	
	$000
	$000

	Share capital
	20,000
	15,000

	Retained earnings
	28,000
	15,000

	Fair value adj. – Land (45,000 – 40,000)
	5,000
	-

	
	53,000
	30,000


W3 Unrealised profit in inventory

=$8,000 × 1/2 ×25%

= 1,000
W4 Goodwill

	For S
	
	$000

	FV of cost of gaining control
	
	45,000

	FV of NCI at acquisition
	
	17,400

	
	
	62,400

	Less: FV of net assets at acquisition (W2)
	
	(53,000)

	Goodwill at acquisition
	
	9,400


	For A
	
	$000

	FV of cost of gaining control
	
	21,000

	FV of NCI at acquisition
	
	13,000

	
	
	34,000

	Less: FV of net assets at acquisition (W2)
	
	(30,000)

	Goodwill at acquisition
	
	4,000


W5 NCI

	For S
	
	$000

	NCI at acquisition (W4)
	
	17,400

	NCI share of post-acq. retained earnings

[30% × (68,000 – 53,000)]
	
	4,500

	NCI before equity transfer
	
	21,900

	Equity transfer due to purchase of additional shares by group
	
	(7,300)

	NCI at reporting date
	
	14,600


	For A
	
	$000

	NCI at acquisition (W4)
	
	13,000

	NCI share of post-acq. retained earnings

[40% × (57,000 – 30,000)]
	
	10,800

	NCI at disposal date
	
	23,800


W6 Equity transfer between group and NCI
	
	
	$000

	Cash paid by H to buy additional shares
	
	10,000

	Decrease in NCI (10/30 × $21,900 (W5))
	
	(7,300)

	Net decrease in equity of the group
	
	2,700


	
	Dr. ($000)
	Cr. ($000)

	NCI
	7,300
	

	Equity
	2,700
	

	Investments (reversal of original accounting for receipt of disposal proceeds)
	
	10,000


W7 Gain on disposal

	
	$000
	$000

	Proceeds
	
	15,000

	Fair value of residual interest
	
	35,000

	Less: Interest in A disposed of:
	
	

	Net assets at disposal date
	57,000
	

	Unimpaired goodwill at disposal date
	4,000
	

	
	61,000
	

	Less: NCI at disposal date (W5)
	(23,800)
	(37,200)

	Group gain on disposal to retained earnings
	
	12,800


W8 Retained earnings

	
	H
	S
	A

	
	$000
	$000
	$000

	Per question
	185,000
	43,000
	42,000

	Less: Pre-acq. retained earnings
	
	(28,000)
	(15,000)

	
	
	15,000
	27,000

	Unrealised profit in inventory (W3)
	(1,000)
	
	

	Gain on disposal (W7)
	12,800
	
	

	Share of S (15,000 × 70%)
	10,500
	
	

	Share of A (60% × 27,000)
	16,200
	
	

	
	223,500
	
	


H Group

Consolidated statement of financial position at 30 September 2012

	Assets
	
	$000

	Goodwill (W4)
	
	9,400

	Property, plant and equipment (160,000 + 60,000 + 5,000 (FVA))
	
	225,000

	Investments (80,000 – 45,000 (W4)) – 10,000 (W6) – 21,000 (W4) + 15,000 (W7)) 
	
	19,000

	Investment in associate
	
	35,000

	Current assets (65,000 + 50,000 – 1,000 (W3))
	
	114,000

	
	
	402,400

	Equity and liabilities
	
	

	Equity capital
	
	50,000

	Retained earnings (W8)
	
	223,500

	Other components of equity (W6)
	
	(2,700)

	
	
	270,800

	Non-controlling interest (W5)
	
	14,600

	
	
	285,400

	Non-current liabilities (25,000 + 18,000)
	
	43,000

	Current liabilities (45,000 + 29,000)
	
	74,000

	
	
	402,400


40% acquired 5 years ago


20% acquired 2 years ago





H





S
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